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The Remainder Theorem

. What is the remainder when p(x) = x> —9x* +21x -5 is divided by x—5?Is x—5 a factor of
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p(x)=x"—8x"+3x 4 divided by x+4 7?7 Is x+4 a factor of
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. What is the remainder when p(x) = x* —2x* +6x—2 is divided by x—3? Is x—3 a factor of
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. What is the remainder when p(x)=x’ —5x” —5x+25 is divided by x+2?Is x+2 a factor
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. What is the rffmainder when p(x)=x’ —6x" +4x—1 is dividled by x—6?Is x—6 a factor of
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6. What is the remainder when p(x)=x’—3x>-8x+4 is divided by x+27?1Is x+2 a factor of

p()f)? Explain your answer. %5 { N g "I:QLL)f . L
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7. What is the remainder when pP(X)= =2 +5x+2 is divided by 2x+1.Is 2x+1 a factor of

p(x)? Explam your answer.
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8. What is the remainder when P(X)= =3’ —2x¢ —27x+18 is divided by3x —2.1Is 3x—2 a factor
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9. What is the remainder when P(X)= 2 =2 +3 is divided by4x+1. 4x+1.1s 4x+1 a factor of
p(x)? Explain your answer. g /)u‘l‘ o -Ci( C)"b'f‘

i«b(j::@ X:’z\z p( %ﬁ ‘;‘C_‘L\B’; & \)*—? \b,r‘* | .HQ [ (MJQ i

petav>e

e / P-4 B0 .
h [JZ}M'W: %‘L}

Use the graph below to the right to answer the following
two questions.

10. What is the remainder when the following polynomial is "
divided by x=1?Is x—1 a factor? Explain your answer 5,

PL\\f“l No, S fetad) is k0.
(= {

11. What is the remainder when the following polynomial is =2 2
divided by x+3?Is x+3 a factor? Explain your answer.
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Use the graph below to the right to answer the following
two questions.

12. What is the remainder when the following polynomial is
divided by x—1?Is x—1 a factor? Explain your answer.
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13. What is the remainder when the following polynomial is
divided by x+2?Is x+2 a factor? Explain your answer.
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Use the graph below to the right to answer the following
two questions.

14. What is the remainder when the following polynomialis =
divided by x—1? Is x—1 a factor? Explain your answer. Do

=2 Mo tumcondic i 20 N
== | [ L

15. What is the remainder when the following polynomial is
divided by x—3?Is x—3 a factor? Explain your answer.
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16. Which binomial is a factor of x* — 4x* — 4x+ 82 P ( \l (%‘{
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18. Which binomial is not a factor of the expression x* — 6x2‘ —49x—66 9
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19. Which binomial is a factor of the expression x’ —7x—67
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20. Which binomial is nof a factor of the expression x° —4x* —25x+289
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21. Which binomial is not a factor of p(X) =2x +7% 5x'—4‘7
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22. Which binomial is mg#a factor of P(X)= =2x" -5 +6x—29
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23. Given P(x) = x° - 3x* - 2x + 4 which statement is true?
1) (x-1)is a factor because P(-1) = 2. 3) (x+1)is a factor because P(1) = 0.

2) (x+1)is a factor because P(-1) = 2. @ (x— 1) is a factor because P(1) = 0.
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1) equals 0 and 2x + 1 is a factor of f{x) esnot equal 0 and 2x+ 1 isnota
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2) 4quals 0 and 2z -1 is a factor of j(x) ) dqes not equal 0 and 2x -1 is a factor
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